
10. CONTINUING PROFESSIONAL DEVELOPMENT 
 

 

10.1 Medical colleges must recognize the need for continuing professional development 

for health professionals and the community. 
 

 

10.2 The college must have a written plan on continuing professional development that is 

known to faculty and staff. 
 

 

10.3 The college must ensure that faculty members are participating actively in continuing 

professional development. Regular symposiums, workshops and conferences should be 

organized to fulfill these needs. 

 

10. CONTINUING  PROFESSIONAL DEVELOPMENT . 
 

 

10.1. The College has a written plan on CME and CPD. 

10.2. The CPD plan is known to faculty and staff. 

10.3.1. The college must ensure that faculty members are participating actively in CPD 
 

10.3.2. Regular symposiums, workshops and conferences should be organized to fulfill the 

CME and CPD plan 
 

 
 

Proposed tools for evidence generation; Continuing Professional Development. 
 

Indica Tools Target Components presentation 

10..1 Verifi Doc. document of annual CPD&CME  plan Description 



 

10.2. Ques faculty (interview and/or questionnaire to faculties 
and staff 

 
% yes ,no 

10.3.1 Verifi Doc. document of regulation to ensure active 
participation of faculty 

Description 

10.3.2 Verfi. Doc. document of annual scientific activities Description 

 

 
Description of the requested Documents: 

 

 

10.1. Document of annual CPD&CME plan 

10.3.1. Document of regulation to ensure active participation of faculty 

10.3.2. Document of annual scientific activities 
 

 
 

Scoring of continuing medical education. 
 

No Ind  No Indicators No. FF PF NF 

1 10.1. The College has a written plan on CME and CPD.    

2 10.2. The CPD plan is known to faculty and staff.    

3 10.3.1 The college must ensure that faculty members are 

participating actively in continuing professional 

development 

   

4 10.3.2 Regular symposiums, workshops and conferences should be 
organized to fulfill the CME and CPD plan 

   

Total score =( FF=2, PF=1, NF=0)    

 


